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Note : Question No.1 is compulosory.
- Solve any FOUR ‘out of remaining suc questions.
All questions carry equal marks. (3 Houwrs)
: Total :- 100 Marks

Q.No.1 Write Short notes on - : : ()_0)
1) Main objectives of load compensation. Q-
2) Operation and V-I charactristics of TCR

3) Passive compensation and Active compensation.

Q.No.2 a) Show that the voltage sensitivity for load reactive poweris - ==

ital Maxwell's equations.
(20)

b) Obtain the wave equation for transmission line from fundarre

Q.No.3 a)Explain the balancing of the unbalanced load. PN .
b)Prove that the surge impedance loading of the line ha° j'.eit voltage profile.
Q.No.4 a)Explam how the mid-point of tranmission line i is tm. best location for the compensator. (20)
b)Expain shunt compensatlon by sym_hronouc vcitage source.
Q.No.5 a)What is meant hv reactive power bLESng? umn with V-Q charateristics. (20)
b)Draw the ideal compensator characterxstm and explam 1)Knee point voltage Vk,
2)Compensated gain Kr, 3)Max opl}ated reactive power Qr max, 4)Stiff system.
Q.No.6 a)Explain various types of FACTS ci#ﬁtroller. : - (20)
b) Using phasor diagram to 'illustzx:’ai‘e different operation of Ui’FC. |
Q.No.7 a)Define & Explain with res; aect to transmission line. ' (20)
i) Surge Impedenm '
ii) Surge 1mpgdje;-nce loading.

iif) Explain the reactive power control by using transformer.
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